INTERMEDIATE EXAMINATION — 2022 (ANNUAL) 119
BIOLOGY (ELECTIVE)
R : Model Paper
oo oha R QR) Fll Mark - 70
HISo YA
Total No. of questions—70+ 20+ 6 =96
Hol YAl B HRAT — 70 + 20 + 6 = 96

ghenrfefalt & fore [Ador —

Instructions for the candidates :-

1. el IR UFB W IAUAT U YRADT hHIB (10 3Dl PI) 3fFeY
fored |
Candidate must enter his/her Question Booklet Serial No. (10
digits) in the OMR Answer Sheet.

2. oRIeTfl JATHa 37U Tl H & IR S |
Candidates are required to give answers in their own words as
far as practicable.

5. i @ik SRR W RY gy i quie Aiffe ok §)
Figures in the right hand margin indicate full marks.

4. S U UF P FYdd Ugd & forw wdenei @1 15 fee @

SrfaRed w9a far 1 2|
15 minutes of extra time has been allotted for the candidates to
read the questions carefully.

5. U UTH-UF Gl WSl H § . GUs—3 UG @Us—9 |



This question paper has two sections: Section-A and Section-B.
Gus—3 H 70 TGS YA &, H 9 fbgl 35 Ul P TR oAl
ffrard €1 35 YAl ¥ ffe/d el & SR o WX UUH 35 Ul DI &
ARG fHaT ST [UAd yed & forg 1 3fd FeiRa g1 a1 SR
a1 & fol UG BRI T OMR—STR U3 4 3 T 92 g &l

FTA /Al dfd U9 9 W A fl IR B @R /TR

gere /s /Agd 3N & IR UG H YANT HAT AT B, 31l
oRIeT GO M BINTT |

In Section-A, there are 70 objective type questions, out of which
any 35 questions are to be answered. If more than 35 questions
are answered, then only first 35 will be evaluated. Each question
carries 1 mark. Darken the circle with blue/black ball pen against
the correct option on OMR-Answer Sheet provided to you. Do not
use Whitener/Liquid/Blade/Nail etc. on OMR Answer Sheet,

otherwise the result will be invalid.

Yue—q H 20 TSI U T | UAP U @ U 2 3 MeiRa 2|

T8 9 fbel 10 U9l & SR o7 Afard 8 | 39 SifaRad 59 Wvs
H 06 oI IR yed Y fau v 2| e U & forv 05 3 fHeiRd
2 T O =l 3 ueal & SR <47 Sifvard 2

In Section-B, there are 20 Short answer type questions. Each
carrying 2 marks, out of which any 10 questions are to be

answered. Apart from this, there are 6 Long answer type
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questions, each question carries 5 marks, out of which any 3

questions are to be answered.

8. Pl TRE & Selagi-id IUSHROT HI YANT gUidT afsid 2 |

Use of any electronic appliances is strictly prohibited.

HYus—3 /Section -A

(axqfss U¥) / Objective Type Questions

U W1 1 H 70 IF AP U B A1 IR fdbey Ry v €, Rred 9

TP el B U §RT g MY el fdded & OMR StTR-UFd W

frel 35 YAl BT SR T |

frfeed &Y |

35x1 =35

Question Nos.- 1 to 70 have four options, out of which only one is

correct. You have to mark your selected option, on the OMR Sheet. Answer

any 35 questions.

1. 2UTH PIRABT Bl & —
(A) 3Tford
(C) frgfora

Tapetal cells are —
(A) Haploid
(C) Triploid

2, Pl TN & —

(B) fawgfora
(D) sgford

(B) Diploid

(D) Polyploid

35x1=35



(A) TSI (B) 9gyurd
(C) srfvether (D) sifreo

Banana is an example of -
(A) Apomixis (B) Polyembryony
(C) Parthenocarpy (D) Parthenogenesis

WHR BT ST 39T IR § B ST & —
(A) <& (B) ot
(C) tfuafes s (D) SATSA 3fchIga

Yeast is used in preparation of —
(A) Curd (B) Cheese

(C) Acetic acid (D) Ethyl alcohol

AqTG] A @ AIAS dh DI YA BT & —
(A) dadt LH G EEERSSE
(C) @aet FSH (D) LH, FSH @21 wegro

Menstrual cycle of human female is affected by -
(A) LH only (B) Estrogen only
(C) FSH only (D) LH, FSH and Estrogen

e ufer &1 |a ot @ qiffa ovar 8 2
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(A) IfTer ARIda (B) UR-rer ufeer
(C) drey Ty (D) 2T (B) @I (C)

Secretion of which gland nourishes the spermatozoa ?

(A) Seminal Vesicle (B) Perineal gland
(C) Prostate gland (D) Both (B) and (C)
qre s g glar ® —

(A) Stefifter (B) A ®R

(C) < (A) T (B) (D) wRRgY

External fertilization takes place in -

(A) Jelly fish (B) Sea star

(C) Both (A) and (B) (D) Reptiles

Hr=iSTs PR B & —
(A) 3Tford (B) fryfora
(C) feggfora (D) oK

Synergid cells are —
(A) Haploid (B) Triploid
(C) Diploid (D) Polyploid

TIURTTOT BT & —



10.

1.

(A) STreHrTE o (B) SR &
(C) FeirReridl ¥ (D) F9ERT ¥

Autogamous pollination takes place in —
(A) Geitonogamy (B) Xenogamy

(C) Cleistogamy (D) Chasmogamy

ceAN gRT S fay ywifdd &= & —
(A) Wfees ARl of (B) sMifeed wiqulRmil &
(C) T (A) T2 (B) (D) SiEs @1 gfgsal &l

The toxin produced by tetanus affects —

(A) Voluntary muscles (B) Involuntary muscles
(C) Both (A) and (B) (D) Jaw bones

g fIuT] TS § —

(A) DER BT (B) &r R0 T

(C) diferar (D) i @1

Oncogenic Virus is a pathogen of —
(A) Cancer (B) Tuberculosis
(C) Jaundice (D) Polio

a7 JURS IR SiE 8T & —
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12.

13.

(A) Ct (B) Bt

(C) Ht (D) T (B) @21 (C)

Herbicide resistant gene of plant is -

(A) Ct (B) Bt
(C) Ht (D) Both (B) and (C)
yfafifers ufooifos S 8rar &—

(A) %« (B) fawrT &

(C) digr & (D) 9favifergg Fidew &

Antibiotic Penicillin originates from —
(A) Worms (B) Virus
(C) Plants (D) Penicillium notatum

STeAhHS H SARTHI TG BT A0 R & —

(A) UTGUTdS (B) Sriew, gRd dard

(C) afer=iRar, o, |arswRE (D) i (A) T2 (B)
In hydrosere, the pioneer community is formed by —
(A) Phytoplanktons

(B) Diatoms, Green Algae

(C) Vallisneria, Lemna, Cyperus
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(D) Both (A) and (B)

14, FHECIS TS BT AT & —
(A) viETIdTH (B) wrcgrsficr7
(C) wrgwiiararT (D) &1
An example of crustose lichenis ....
(A) Rhizobium (B) Potamogeton
(C) Rhizocarpon (D) Lemna
15.  TORGE BT S BT § —
(A) S (B) 3rrgaf¥rerer: Hfha
(C) smgafren: ffepa (D) =i (B) vd (C)

Euchromatin of chromosome is ....

(A) Neutral (B) Genetically active

(C) Genetically inactive (D) Both (B) and (C)

16. Gpx fad e # Qb g & RO B 8 ?
(A) FHGTHSIAT (B) faf+ra

(C) fawgsrd (D) PTETTH

Hybrid vigour occurs due to which event in the following ?

(A) Homozygosity (B) Crossing over



17.

18.

19.

(C) Heterozygosity (D) Chiasma
SHRES], FRIE TAT HEAMT A% & —

(A) s (B) =

(C) sy (D) ¥4
Jaffarbandi, Murrah and Mehsana are breeds of ..
(A) Sheep (B) Cow

(C) Goat (D) Buffalo

qOAl & FAR H TERaAT Bl © —

(A) BT B (B) 97
(C) e @t (D) faretfért a0
Fish flour is rich in —

(A) Carbohydrate (B) Fat

(C) Protein (D) Vitamains

argeed fagved st grar € ?
(A) 3T (B) wIoHIfSTH
(C) arctat (D) uRMIREH

Binary fission is longitudinal in —



20.

21.

22.

(A) Amoeba (B) Plasmodium

(C) Vorticella (D) Paramecium

ARGRIT U TSR Qe © d27 sl A9 3T AeRid gidr 2.

(A) TR WR (B) JIRGINAHR TR

(C) TeRfSTTHR W (D) < (B) vd (C)

Marchantia is a dioecious plant and its sex organs develop on —

(A) Tassel (B) Archegoniophore

(C) Antheridiophore (D) Both (B) and(C)

Uh AHIBISSIS $HIF Dl S Ured IJurd s8N —
(A) 1:1 (B) 2:1

(C) 3:1 (D) 1:2:1

The genotypic ratio of a monohybrid cross will be —
(A) 1:1 (B) 2:1

(C) 3:1 (D) 1:2:1

T SI—g O & J4Tg dI fouT <ar &, a1 I ge1 el o—
(A) SaRad+ (B) Uaeren
(C) wrfra (D) TRy

A gene pair hides the effect of another. The phenomenon is

called —

10



23.

24.

25.

(A) Mutation (B) Epistasis

(C) Dominance (D) Codominance
TRRBAT BT Th IS8T 28—

(A) Riaerar (B) Hieioi7er

(C) wrgvrger (D) <IrgaA

An example of mutualism is —

(A) Riccia (B) Selaginella

(C) Spirogyra (D) Lichen

IRHACHY T Bl TPfd R Bl 8 —

(A) STeTarg ™ (B) 5Tdd W

(C) H&T & I&=AT R (D) dUHE W)
Nature of climax community depends upon —
(A) Climate (B) Water

(C) Sail fertility (D) Temperature
TP I TSRl & —

(A) PRI (B) fawraH

(C) vwerrrn (D) T (A) T (C)
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26.

27.

28.

An obligate root parasite is —

(A) Cuscuta (B) Viscum

(C) Rafflesia (D) Both (A) and (C)

TP IR UGHSH & —

(A) BT (B) aifiImiaDe

(C) FARMCS B SIdbTed () BIEFSERCIESIES
A mutagenic pollutant is —

(A) Carbon (B) Organophosphate
(C) Chlorinated Hydrocarbons (D) Nitrogen Oxide
TEh 3ol FNHRONT Ugud § —

(A) B uferr (B) 3rgeR

(C) MR (D) S

A nonbiodegradable pollutant is —

(A) Green leaves (B) Newspaper

(C) Cow dung (D) DDT

IERTORIT T fAdTd Haf e 8 ?

(A) gepefe-tr # (B) 1] Aferepreit #

12



29.

30.

(C) urace ufr # (D) 3faxTell PHIRTHRN
Where is sperm developed ?
(A) Vasdeferens (B) Seminiferous tubules

(C) Prostate gland (D) Interstitial cells

Relfda g fas g1 Afa grar g 2

(A) STTSRIT gRT (B) Teet fer grRT
(C) quor w1 (D) diegedt ufer gy
Relaxin hormone is produced by —

(A) Ovary (B) Adrenal gland
(C) Testis (D) Pituitary gland
gl H U g BT &, S Heardl & —

(A) STEIR (B) eI

(C) VeIHRIR (D) SER

Gastrula has a pore known as —

(A) Zoospore (B) Blastopore

(C) Aplanospore (D) Oospore

13



31.

32.

33.

TS @ T ST qer uferal & U B € —

(A) RT3 (B) eIy 3T

(C) TSI 31T (D) AR 3T
Fore limbs of humans and wings of birds are-

(A) Analogous organs (B) Vestigial organs
(C) Homologous organs (D) Parallel organs
BTl BT Il P & —

(A) sarfrar (B) TR

(C) e (D) e

Age of fishes is called as —

(A) Devonian (B) Permian

(C) Silurian (D) Triassic

quT faera &1 W fhde gRT ywdrad fear T ?
(A) T (B) HRTT
(C) =Ifd (D) 9 4R

Law of embryonic development was proposed by -

(A) Mendel (B) Morgan
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34.

35.

36.

(C) Darwin (D) Von Baer

Ied SR YIS dTell YRSIE! Uiel 8 —

(A) THIER (B) arreg

(C) st (D) =maet

A transgenic plant having higher storage protein is —
(A) Tomato (B) Potato

(C) Maize (D) Rice

S T U &7 70°C R fge=r foa d99 & e & BRI 8T § 2

(A) ETSSIoH o4 (B) BiaBhIERURER 989

(C) Stz Hewrgs ded (D) RSIEEISIISEAC R

Melting of DNA at 70°C is due to breakdown of which bond ?
(A) Hydrogen bonds (B) Phosphodiester bond

(C) Disulphide bonds (D) Glycosidic bond

JrRNfeiRed 4 faa forg Sugad 8rar § 2

(A) SITTT 3elTeTId & forg

(B) UTqu HIRTHRI & IR0 & oy

15



37.

38.

(C) gTANTSl S @& fAHior & forg
(D) ¥g™T & ferw
Biolistic gun is suitable for —

(A) DNA finger printing

(B) Transformation of plant cells
(C) Constructing recombinant DNA
(D) Conjugation

ARd & URTE SIAred deiid did o ?

(A) €. e (B) . 9. &
(C) o1 Hewer (D) TH. 3R, HU

Who was the famous palaeontologist of India?
(A) B. Sahni (B) B.P. Lal

(C) P. Maheshwari (D) S. R. Kashyap

Hadh BIRIGT H SITAY AT BT § DI AT USl8H Y il & 7
(A) EcoRl (B) Chitinase
(C) Hind 1l (D) Lysozyme
Isolation of DNA from a fungal cell involves the use of enzyme —

(A) EcoRl (B) Chitinase

16



39.

40.

41.

(C) Hind Il (D) Lysozyme
fFeifhd & | @i ufcrded vorgd § 7

(A) STRTTTS (B) ST
(C) ST (D) fe=—2

Which of the following is a restriction endonuclease ?

A. RNase (B) Protease

(C) DNase- 1 (D) Hind -2

U o el iffrafdd wuiaRd dIfdTel & Uga™ &)+ & dcq

PRI 8, 98 § —
(A) &RT Ay g (B) wifows
(C) Harg® (D) HEATHS ST

A gene whose expression helps to identify transformed cell is —
(A) Selectable marker (B) Plasmid

(C) Vector (D) Structural genes

frifed & 9 faeraela qor 4 o gRT e uar =&

SHTRIT ST Ahdl & 2
(A) S~ RivgH (B) Siff~sw / tifera
(C) FelrsAheex RIvgH (D) o1 W1 foiir

17



42.

43.

44.

Which of the following cannot be detected in a developing foetus

by amniocentesis ?
(A) Down’s syndrome (B) Jaundice

(C) Klinefelter syndrome (D) Sex of foetus

11 JATE B AFRT ST 8 —

(A) faeq gataror feas (B) fawq ey fead
(C) fawa S faaw (D) didrey, fAwer feaw
July 11 is observed as —

(A) World environment day  (B) World health day
(C) World population day (D) No tobacco day
MTP TufeRer & fohd- |awire qe GRIE a1 S & ?
(A) 6 T8 (B) 8 \g

(C) 12 |18 (D) 18 H<I8

MTP is considered safe up to how many weeks of pregnancy ?
(A) 6 weeks (B) 8 weeks

(C) 12 weeks (D) 18 weeks

‘T o[ Udb Goirgd’ Rigia foaq gxarfaa faar ?

(A) dreet qT <A (B) AT T Tl

(C) 9TecHR qer <A (D) Va1 qT Hahrc

‘One gene one enzyme’ theory was proposed by —

18



45.

46.

47.

(A) Beadle and Tatum
(C) Baltimore and Temin
SH S TTTRTE ?

(A) Rrafea =
(C) v

What is Junk DNA ?
(A) Split gene

(C) Exon

MMaR® de Bar & —
(A) PR

(C) <1 (A) T2 (B)
Genetic code is —

(A) Commaless

(C) Both (A) and (B)

<¥e—<gd 941 g FrEfalRad § 9 59 ddb-ie &1 TN &HRdm & 7

(A) IUI
(C)ICSI

The Test-tube Baby Programme employs which of the following

techniques ?

(A) IUI
(C) ICSI

(B) Meselson and Stahl
(D) Avery and Mc Carty

(9]

(B) gzt
(D) THIeR

(B) Intron

(D) Promoter

(B) e
(D) sifwTre

(B) Universal

(D) Overlapping

(B) GIFT
(D) ZIFT

(B) GIFT
(D) ZIFT



48.

49.

50.

51.

JfFeldh T+ dgAAD & —

(A) ITHRT BT (B) 3R TH § &

(C) UIci= &1 (D) fFAACIZS BT

Nucleic acid is polymer of —

(A) Carbohydrate (B) RNA

(C) Protein (D) Nucleotides
RIS g fafaerar fead &9 74T Sirar g 2

(A) 1 Raa=R 31 (B) 7 SIS @l
(C) 9 3R Bl (D) 22 g @I

On which date International Biological Diversity day
celebrated?

(A) 1 September (B) 7 July

(C) 9 August (D) 22 May

Fifed # & S A1 9 B ST eI g2 oH 8§ 2
(A) Salf7aT (B) Welwrger

(C) Fofre (D) galerev

Which of the following plant species is in endangered list ?
(A) Delonix (B) Ceratophyllum

(C) Nepenthes (D) Eucalyptus

YRA T TG ST 9 DI A1 8 ?
(A) =R=TE =reT (B) TE—<ifew
(C) <, gt (D) Hifew =@

20
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52.

53.

54.

55.

Which is the National Aquatic Animal of India ?
(A) Sea-Horse (B) River Dolphin
(C) Blue Whale (D) Gangetic Shark
fr=ifed & 9 o9 A1 FHUE @e § °?

(A) UAG (B) AUG

(C) GUG (D) Both (A) and (B)
In the following which one is termination codon ?
(A) UAG (B) AUG

(C) GUG (D) Both (A) and (B)
UTeRfrds STard # Sial T HRevT HEedm & —

(A) TIRIT HREY] (B) Sig Qe

(C) 9180 =A™ AReT (D) g1 (A) T2 (C)

Conservation of organism in natural habitat is called —
(A) In situ conservation (B) Zoological garden
(C) Ex situ conservation (D) Both (A) and (C)
g gforen @1 @t fad @1 ?

(A) U0 YTeeR (B) T=are oITR
(C) Xfae @i (D) ufer afe1 =R
Passive immunity was discovered by —

(A) L. Pasteur (B) Edward Jenner
(C) Robert Koch (D) Emil Von Behring

ITSHT DIfhT UTed Bl & 2
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56.

57.

58.

(A) 7R —PIfRreT | (B) R T—aIR¥TaT |
(C) 7ART S—pIRTaT | (D) ATSCreifdad SI—dIRIdT |
Plasma cells are derived from —

(A) Memory B-cells (B) Helper T-cells
(C) Memory T-cells (D) Cytotoxic T-cells

e dfed fdd HRT glar § 7

(A) ST ATSI—E12 & BRY (B) TSI & BRoT
(C) T di—40 fauro] (D) RATAT—IRER fI9T] & HROT

Chicken Pox is caused by —

(A) Bacteriophage-T2 (B) Adeno Virus

(C) SV-40 Virus (D) Varicella-Zoster Virus
3mgafire rfeifa # ugad mfvasds oAl 3 W 7 ?

(A) THTZ I GRS

(C) uftrde Trerg et (D) BTSSIets

‘Molecular scissors” used in genetic engineering is —
(A) Amylase (B) Ligase

(C) Restriction endonuclease (D) Hydrolase

U A9 AT T3S 3 & hdd & —

(A) o 57 (B) gicharel
(C) &lfsam aeriiv (D) Swaiareiar

A man made allopolyploid cereal crop is —

22



59.

60.

61.

(A) Zea mays (B) Triticale

(C) Hordeum vulgare (D) Raphanobrassica

faferedl |t & Ffcaspd gicHde | UK Uehaile a1 URT R
27

(A) g (B) PIfrepT foureT

(C) sgyfora (D) EIELE]

The alkaloid from Colchicum autumnale of family Liliaceae
induces —

(A) Dormancy (B) Cell division

(C) Polyploidy (D) Sterility

YoH Aerd e ARG fdd SUaR & forg @t 18 o ?
(A) TS (B) RifRe® wreaia
(C) duR (D) v <1 g <

The first clinical gene therapy was done for the treatment of —
(A) AIDS (B) Cystic fibrosis
(C) Cancer (D) SCID

qqra, @ Ul BT B AT WET HANSRISAT SABNITET | HshiAd aidl
2?

(A) 9= (B) &

(C) Tl (D) vt

Which part of the tobacco plant is infected by Meloidogyne
incognita ?

23



62.

63.

64.

65.

(A) Flower (B) Stem

(C) Leaf (D) Root
Ul FA U ® —

(A) Sfell 1S (B) Hfeh

(C) dfeft s (D) =

First cloned animal is —

(A) Dolly Sheep (B) Molly
(C) Polly Sheep (D) Dog
TR ¥ e B W eafy ugyer YT BT § —

(A) 50-60 dB¥ (B) 70-75dB ¥

(C) 40-65 dB 9 (D) 80-99 dB
Noise pollution is created if noise is in excess to —
(A) 50-60 dB (B) 70-75 dB

(C) 40-65 dB (D) 80-99 dB
e § | @i o freiiexofia ugus & ?

(A) dfeieii= (B) SI€1<T

(C) wnRes® (D) g1fed Hel oTed

Which of the following is biodegradable pollutant ?
(A) Polythene (B) DDT

(C) Plastic (D) Sewage

CO, ¥ 3ifde fader CO Biam 7, Hifd

(A) I8 Bl Bl &l ugardr 8
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(B) I8 STol & WTT 3Rl g1 & |

(C) ¥ df3dr d= &I uwIfdd el ¢ |

(D) I8 THFAE @l RIS 98- &Hal B HH B <l 2 |

CO is more toxic than CO, because —
(A) It damages lungs

(B) It forms acid with water

(C) It affects the nervous system

(D) It reduces the oxygen carrying capacity of haemoglobin

f=ifrd & & &9 A1 Id @ YA B oY vy Biar g 7
(A) w5vITIEvT (B) Feriverr
(C) srewifan (D) dfrrens

Which of the following plant is used for the purification of water ?
(A) Spirogyra (B) Chlorella

(C) Eichhornia (D) Beggiatoa

fFeforiad § | &= a1 sifiue droifes g ?

(A) TeT TH S (B) HR®IT
(C) SavT® (D) <iarep,
Which of the following is an opiate narcotic ?

(A) LSD (B) Morphine
(C) Stimulants (D) Tobacco

ST U9 T BT Hegols= Haf aidr g 2

25



69.

70.

(A) T—_Ta9Y WR (B) T3y W
(C) H1—3aely W) (D) (A) 3R (C) 3Mi
DNA is methylated at —

(A) A-residue (B) T-residue
(C) C-residue (D) Both (A) and (C)

1 T T BT Rl 8ar & —

(A) 3'>5' faem #

(B)5' = 3" fazm #

(C)a™i 3° = 5 qar 5° > 3" ez #
(D) 379 W PIg &

Replication of DNA occurs in —

(A) 3° > 5’ direction

(B) 5’>3’ direction

(C) Both 3’'>5’ and 5’>3’ direction

(D) None of these
m-RNA &7 fofor grar & —

(A) T H (B) d=ab
(C) wrgeioifogar (D) ®Rrdraer #
A m-RNA is formed in —

(A) Ribosome (B) Nucleus
(C) Mitochondria (D) Cytoplasm
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Yuvs—9 / Section-B

oY S 939 / Short Answer Type Questions

U AT 1 ¥ 20 T g SIRIG U 2| 599 I {10 U BT IR T |
TS U @ forg 2 3w FEiRa € 10x2=20

Question nos. 1 to 20 are Short Answer Type questions. Answer any 10

questions. Each question carries 2 marks. 10x2=20

1, HSolld fapR & w1 FHed § ? Held § HIQT8Ro HHS | 2
What do you mean by Mendelian disorder ? Explain in brief with
the help of suitable example.

ON N\

2. Rebdrgere fagla @ g ? 2

What is the theory of recapitulation ?

3. Siral § aTelffIe S99 &l AIGTERvT AR | 2
Explain asexual reproduction in an organism with the help of

example.

4. S U U UleiaRsl R U femof ford | 2

Write a note on DNA polymerase.

5. TR ARETOT | RAT FHASTT & 2 2
What do you understand by Ex-situ conservation ?

6. eRT Wl & R gHsa © 7 2
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10.

1.

12.

13.

14.

15.

What do you mean by Green-farming ?
ARG BRG] [THTSH B TAThST AT &1 AHIhd = g9y 2
Show the well labelled diagram/sketch of Anaphase stage of

Mitotic cell division.

P FT 2 ° I g DT I urd BT 8 ? 2

What is cocaine ? From which plant it is obtained ?

SifpIoRN T 8 7 2
What is oncogenesis ?

HAad T ALFAT UAGAHROT H AR T P | 2
Distinguish between continuous and semicontinuous replication.

ST BT fEior HE 8 dr 8 ? 2

How is smog formed ?

Sg 3ae I T e § 7 2

What do you understand by biomagnifications ?

WefisT fafderdr &1 aRvTia & | 2

Define Species diversity.

ATARIe ydrg o1 7 ? 2

What is genetic drift ?

€1 U U SeABTaT 91§ ? 2

28



16.

17.

18.

19.

20.

What is DNA fingerprinting ?

U & IR PIC BT AMifhd forF T2 | 2
Show the well labelled diagram/sketch of the T.S. of testis.
Yordry &7 guft il § R® " 7 ? 2

What is the importance of embryosac in angiospermic plants?

STl dE[d HUT Heed T 7 ? 2
What is Gel electrophoresis ?
ATRHS pBR322 B AT T | 2

Show the structure of plasmid pBR322

qfg—gd<] Bl G ad1u | 2

Explain tubectomy with the help of diagram/sketch.

e Safg 939 (Long Answer Type Questions)

T3 IRAT 21 ¥ 26 db <" ST U 2| 39 9 b=l 3 Ul & SN < |

gddh Y3 & foTv 5 3fe fuifRa & SO aifdeaq 120 el & 819 =nf_v |

3x5=15

Question nos. 21 to 26 are Long Answer Type questions. Answer any 3

questions. Each question carries 5 marks. Give your answer in about 120

words.

21.

3x5=15

fr=ifpd Ul & SR © — 5

o C -

(A) 999 & o H gl-arel gl uiRkaxi=i b1 quie & |
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22.

23.

24.

25.

(B) &4 @f9gw W Ud fewol ford |

Answer the following questions :

(A) Describe the morphological changes that occurred during the
course of evolution of Man.

(B) Write a note on Homo sapiens

ORIl diem &1 & ? o $F Hur W) fewofl ford | 5
What is transgenic plant ? Write a note on Bt cotton.
frifaed @1 aui @Y — 2%2x2 =5)
N EERIEIRCI RS

(B) S f=ifdresar

Describe the following :-

(A) Products of biotechnology

(B) Gene therapy
frferRaa o wfera fewoft ford 2%2x2=5)

(A) Xfsarert uaref
(B) =eReIRRe &1 fAfoT

Write short notes on the following :
(A) Radioactive materials

(B) Blastocyst formation

ferferRaa ue= @ SR < (2%2x2=5)
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26.

A. IRIHIRIAT H foimrarse &1 @1 a7 ?

(B) ST dHRI & o, HREb dAT T & IR H ford |

Answer the following questions :

A. What are the functions of lymphocytes in immunity ?

B. Write about the symptoms, pathogen and control of cholera

disease.

friferd & 3R W & 2%2x2=5)
(A) STFYEHSTT TAT =TT

(B) ot Haeid qAT Yol Haed
Distinguish between the following :
(A) Parthenogenesis and Apomixis

(B) Callus culture and embryo culture.
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